B.A./B.Sc./Part-11/Hons./ECOA-III/2018

mhm
WEST BENGAL STATE UNIVERSITY
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ECcONOMICS-HONOURS

PAPER-ECOA-III
Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. enfa Frra 34E YT Y [ Fa.

Candidates should answer in their own words AIEIIA [ CIF I FET G T
and adhere to the word limit as practicable. Taq FhRq

Use separate Answer Book for each Group and Mention the Group on Answer Book

ffefs [eraa &y ofdF Teasa J321T F0al 972 Teasiaq o faert Srae st

Group-A
Ret-=

i Answer any three questions from the following: 4x3 =12

fasfafie @-@E foaft aria Tea ws:

(a) Why demand for inputs called *derived demand’?
(o TP HifZRiCS Tge bifEwl 7 27 2

(B) Under price discriminating monopoly, price is lower in the market with
more elastic demand. Do you agree with this statement?

e Je1E FEHU FRAEI (R @ A vifenR fZforerrel @ o2 aeiE
W3 Wi TN T | 92 ISTIE A F2H© (218 31 9

() What is ‘dead weight loss’” under monopoly?
GFEH FIFAI To©ld (I ) S FiE a0 9

«) Describe the conditions of exchange-efficiency in a two person, two good
model.

72 9@ 8 42 o) 3ooim Sirete fAfserera ssefe a4l st
(e) State the conditions for success of a Cartel.
Tesima 794 (Cartel) FECeTa =oefE 31 awan

2 Answer any one question from the following: 8x1 =38
fasfafie -t o fo st Tea wies

(a) Explain how the insurance companies maintain economic viability by
operating on large scale based on the law of large numbers.

I @rieE TR it W s Sfere “famifee 2 e
e fofe som ans »
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(c)

(d)

K,

Explain with reasons that a labour supply curve might be backward bending.
TR IS (A 2PHIRY A Z0 2N — 4 P I

Is there exists any unique supply curve under monopoly? Explain your
answer.

GFHHA FIFAIE (@1 WS @I @ AT & 9 (o TeEa TACE PRI we |

Answer any fwe questions from the following:
frrafeie q-ieat 76 v Teq ies

Explain the concept of Nash equilibrium. Is the duopoly model explained by
Cournot attend a Nash equilibrium? Why the firms will not be willing to
play cooperative game strategy in this case?

T SR IECS 76 @I 2 I Gl wrete i it e [ SRy
T 27 9 GTHE 1 qio SRS (e IR FCE 9l (4 9

“Rent is not income of a particular factor of production but merely an aspect
of income of any factor of production”. — Explain.

el @ ReR SRR O Y, S 2% (@ I SR S SR
o= 1 — g )

Show that perfect competition is neither necessary nor sufficient to ensure
Pareto optimality.

@S @ D! (Pareto) IR *€ AV FAI7 Ty syfeiforaiiorn wieg
S AT (A6 7

Write short notes on any twe of the following:
ferafEie Q- 415 T kR Bl el

{¥Monopolistic and monopsonistic exploitation of labour

GFCHHA FIEA @ TS = eeirge

. &41) Adverse Selection and Moral hazards

(a)

2045

aifege fodim ¢ tafess R
(iii) Adding up problem
(R [QERIREN]
(iv) Two person zero sum game.
2 & %= 72 (¥l
Group-B
faett-«
Answer any three questions from the following:
faferde @-rial foafs et Teq wies
Distinguish between fixed and flexible accelerator.
% o oifeMel garara Nk et s
2

15%2 =30
HhdED
4x3 =12
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(b)

()

)

/m..

Under what circumstance the short run Phillips curve can be vertical?

3 ~faffore Taaam ffaem qd Tax wigfon 2o iia ¢

Distinguish between 100% reserve banking and fractional reserve banking.
2 R AT @ CARRP TR JETER AN Forel

What are the limitations of Keynesian Absolute Income Hypothesis to
explain consumption behaviour?

(Slst 7S Sbae T (@2 53N WY 2Afssata Aae! F 2

Why is disinflation painful? What are the requirements of painless
disinflation?

TR (4 TFNMRIE 9 FHNEIA JEPRCPIGA 2e [aef @ e 2

Answer any one question from the following:
fsfeie -l «lo eivis Ted wiss

What are meant by credit creation and credit control? Do you think that the
commercial banks collectively can create credit in a fractional reserve
banking system?

29 3713 ¢ 4l farEdl Feire & QI ¢ N & W07 S0l kR el E I3

fafers gt awtg A 5 w9 w9

3.
~2)
[-€b)
()

6.
(a)
\(b)

2045

Explain the costs of unanticipated inflation and anticipated inflation.

s YGRS @ wefie JurFlfos mef e v

On what market imperfections does each theory of aggregate supply rely?
What do the theories have in common?

AR @I 2D ©F (@ 2FE ATE Topfor eo@ e ¢ @3
wgefera W @i Rt aRe ¢

Answer any fwo questions from the following:
feraterfie -l 4fF efves Ted nies

What is the difference between Transaction theories and Portfolio theories
of demand for money? Explain how money can be treated as an inventory to
show that the transaction demand for money has interest sensitivity.

i ifzwia Tere-og ¢ w2fke wrgd W il F ¢ Sl woge BeiE 0 I
(AANE (A (TR TG GIlr i bifewl Hova 21tes Bok faeasie |

What are the different forms of investment? What is Tobin’s *q’? In what
respect is this theory related with the neo-classical theory of investment?
How is Tobin’s ‘q’ influenced by stock market fluctuations?

ffvcnee fen agfoef & & 2 3R < T 0 ¢ @ 7 @ @3 ogl
ﬁﬁmﬂﬂawaﬁrﬁmmwm@@9mwwﬂw%ﬁm q
fFoir aefke 73 ¢

8x1 =238

3+5

15%x2 =30

£ 2 12

6+2+4+3
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gzj How did the New Keynesian economists explain the stickiness of wages and
./ prices in the short-run? — Discuss.
T @ ARl e Tewiet TGl @R Wi el TR I 2
B TN
(d) What are the instruments of Monetary Policy? Explain how money supply is

related with the stock of ‘high powered money’. In this connection, show
that, money supply is not totally policy determined.

wiftfe Afoq srpmeaf & & 2 oda s For S FToprm sl SIeiE
% FAEYE 9 T 2T (NG (T, S CaIoNeeT it »feaieife i frafsre w
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EcoNOMICS-HONOURS

PAPER-ECOA-IV

Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. efifess T e FGIs 2T o T3
Candidates should answer in their own words AR e CIRIE TR TET XN
and adhere to the word limit as practicable. Teq Ffca 1

Use separate Answer Book for each Group and mention the Group on Answer Book

eifefs fRsimtd ey 934F Teqaa Ja27 F0A 932 Teead Toid fIeir Trae 0l

Group-A
Re-%
1. Answer any three questions from the following within 100 words each: 4x3 =12
fosfafe @-ri foafe 2t Tea wis &fsf soo *Mtw Nes
. W) Distinguish between economic growth and economic development.
QT e ¢ GRS SaacTa e #Ad et Fea
(b) Define economic development in terms of capability.

Feld (2fre Sdmies Sarad e WS |

(c) Explain the use of Lorenz curve to make judgements on the pattern of
income distribution in a country.

@I (A0TE SERGCAd Siaaa [Racn o Resaeedz owea #itde @ 3923 i1
FCEN

) What is meant by demographic dividend?
Y R SRR IS R IR 2
(€) Why is ‘Big-push’ needed in a less developed Country? V)
a3 FEe AT (@IE Al AT ¥ & 2

ansaly o peve

2. Answer any one question from the following: 8x1 =38
fraferfie @-ia g lt arse Tad e

(a) From a comparison between Marx and Rostow with regard to stages of
economic growth.

ST SRR A fRE0 WA @k A0 gEl S
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(a)

(b)

2046

Explain the concept of low level equilibrium trap. What are the routes
through which an economy can escape from this trap?

‘Tt et T -aq aails i s Freng 3l oo «ior 3 i
(2 I “Neq) /e ¢

Discuss the role of capital in economic development of a country.

G (R AT SR T Gl SAiCeAfoa

Answer any two questions from the following: 15%2 =30
frrferie - 715 eivsm Te wies
What factors are responsible for differences in technological choice between 5+10

less developed and developed countries? Discuss in this context the conflict
between employment and surplus generation in the process of choice of
techniques in less developed countries.

Talel ¢ e (R W eRffe bt e [ & Wl 0 @3 epiw

CaReTIeT (R0 Besiiwe (FeIeT 50 eifiFam SR g3k Sge e W [

FACE SIS ST

Define Head-Count ratio and Income-Gap ratio. Indicate their limitations. 3+4+8
How does Sen’s poverty measure avoid these shortcomings? — Explain.

T S AT’ G ¢ AR BoATe’-aq e wis | RRCwE AW B
el Aaae! ot F@l1 GTR Wiy Spal e 3 Ghef aurs e o
ARG A0

Explain the concept of sustainable development. In this context explain the 8+7
process of environmental accounting in determining sustainable Net
National Product (NNP) in any country.

I N 2T GRICAR QRN 1 RN | 9B @ A e PR S e
Testel” (NNP) e crea sifdmiere &oiia == fef 2 <@t

What is balanced growth? Give arguments in favour of balanced growth 4+5+6
strategy. How these strategies differ from unbalanced growth strategies?

TN T FICF A 9 A TFI R WCF G S| @ A T T
Freresfera wiefe 5 & 9

Group-B
faetal-
Answer any three questions from the following within 100 words each: 4x3 =12
fsferie -t fomfs 2 Sea wie effefs soo *iram Wz
Give reasons in favour of protection of commerce.
ey frmEer Yo e siEnal sa@t

Discuss the functions of International Monetary Fund.

SieEfos v SleiEd FHE! fge wa@t
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©

“What do you mean by “Unequal exchange™?

w7 fRfese 9ot fF @i 2

. (# What do you mean by ‘decentralised planning’?

)

(a)

(b)

\ 44)

(b)

(c)

v

Ad)

2046

‘Redige “fResr e & @i 9
What is ‘Import substitution’?

WA PO S 0T 9

Answer any one question from the following:
fersferfe @-eiat it avs e ies

“Trade acts as an engine of growth” — Write a short note in this context.

“qifey wifde Rl biferemie et F1e I@ 17 — @2 T @3l ke St
CETeN

Write a critical note on the ‘Structural adjustment programme’ of IMF.

IMF -43 ‘SS9 FRFR FOPHIR @23 @b FICeAbaner Bt @i

Discuss how the development of the centre leads to the under development
of the periphery. b X

Wwwﬁwmmmwwm:

Answer any fwo questions from the following:
fasfEiiie @it 1% et Tea wies

What are the salient features of multinational corporations? Critically
examine the role of foreign multinationals in fostering the process of
economic development of less developed nations.

uifos Rl ewerd @RiEel Sme @ TEEe (refir adEtes
T e Tl Rl @ SR oem R, O AT =01
w8 |

Write a critical note on the policy of export promotion as an effective means
of industrialisation.

frarCT= s e qefF-aae Tifos el R gl smiesaes b
(AN

What is the ‘infant industry argument’ for protection? Critically examine the
infant industry argument for protection, with examples.

“Pere-for AP FICP A 9 Five-Fi e G Swrzgertz ANCEAGAINES
SICeTH ! w4l

Do you support the Prebisch-Singer thesis? Justify your answer.

G & Prebisch-Singer Ogfb 54 &3t ¢ Yoz (omix Tea eifsfe

L%

8x1 =28

15%2=30

5+10
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